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ZeEE o 741 8,330,0009 * 13 = 8,330,000
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2. 7)ol A4 18,600 0 18,600
1.8 w3 A7kl A5 4 18,600 0 18,600
BRI EA S P R R ey 18,600 0 18,600
1.3tur A7 F A9 18,600 0 18,600 (fé‘:gxd—“%)%?#”ﬂ%  18,600,0004 « 13t 18,600,000
2. A+ 68,553 67,724 829
1.3 m a9 64,583 67,724|  -3,141
LA gy 64,583 67,724 -3,141
1,949 64,583 67,724|  -3,141
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2. Y55 3,970 0 3,970
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‘ 9. Apr44) 10 0 10
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1. AdzogF 8,180 0 8,180
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1.EAAd = 8,180 0 8,180
1.AAdAF 8,180 0 8,180
1.eAAIY = 8,180 0 8,180 | A A Y F(Z2%) ¢ 7,343,700 1 l= 7,344,000
THAALGAF(FAY) : 835,370 *10l= 836,000
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